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EKS-H

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her
' answers in Hindi will not be valued,

Question No. 1 is compulsory.
Answer any five questions out of the remaining six questions,

Working notes should form part of the answer.

Marks
1. Answer the following : i‘;g
(@)  Following details are related to M/s XYZ Limited : 2
Total Cost ? 56,78,000
Margin of Safety T 48,18,450
Margin of safety (in units) 6500 units
Break even sales 3500 units
You are required to calculate :
(i) Profit
(ii) Profit volume ratio
(iii) Break even sales (in ¥)
(iv) Fixed costs
EKS-H P.T.O.
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(b) ABC Limited is facing the problem of increasing labour turnover in
the factory. The management is willing to analyse the causes and take

remedial steps.

Last year sales of the company amounted to ¥ 12,18,49,320 and the
P/V ratio was 25%. The total number of actual hours worked by the -
direct labour force was 5.75 lakhs. The company lost 125000
potentially productive hours due to delay in filling vacancies caused by
labour turnover. The actual direct labour hours included 60000 hours
attributable to training of new recruits, out of which 30% of the hours

were unproductive.

The accounting records reveal the following costs incurred consequent

to labour tumover :
Recruitment costs - ¥5,36,300
Selection costs - ¥2,78,400
Training costs - 4,25,000
Settlement costs due to leaving - ¥ 7,18,800

Assuming that the potential production lost as a consequence of labour
turnover could have been sold at prevailing prices, find out the
contribution and profit foregone by the company in the last year due to

labour turnover.

EKS-H
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©) Following information relate to a firm :

Current ratio 1.5:1

Inventory Turnover Ratio (Based on COGS) 8

Sales < 40,00,000
Working capital T 2,85,000
Gross Profit Ratio 20%

You are required to find out ;

(i) The value of opening stock presuming that the closing stock is
40,000 more than the opening stock.

(ii) The value of Bank overdraft, presuming that the Bank overdrafy
and other current liabilities are in a ratio of2:1.

(d) ABC Private Limited wishes to raise additional finance of ¥ 30 lakh
for purchasing a machine. It has Z 16 lakh in the form of retained
earnings which is available for investment purposes.

The following details are provided by the company :

(1) Debt-equity mix 1:2
(2) Earnings per share 10
(3) Current Market Price per share %50
(4) Tax rate 30%
(5) Dividend payout 50% of eaming
(6) Expecied growth rate in dividend 10%

(7) Cost of debt :
—  upto 2 6 lakh, 12% (before tax)
— beyond¥T6lakh - 15% (before tax)

EKS-H P.T.O.
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2.

You are required :

C))

EKS-H

Marks

(i) To determine the pattern for raising the additional finance,

assuming that the firm intends to maintain existing debt-equity

mix.

(ii) ‘To determine the post-tax average cost of additional debt.

(iii) To determine the cost of retained eamings and cost of equity.

(iv) Compute the overall weighted average after tax cost of additional

finance.

(a) PQR L. processes a range of product including a toy ‘Alpha’, which 8

passes through three processes before completion and transfer to the

finished goods warchouse. The information relating to the month of

October 2019 are as follows :
Particulars Process-I | Process-II | Process-IIl | Total
Raw materials T 12,000 - - T 12,000
(2,000 units)
Direct raw material | ¥ 17,000 19,000 T 11,000 | T 47,000
added in process
Direct wages T8,000( ¥12,000 T 24,000 | T 44,000
Direct Expenses T 2,400 T 1,860 72,680 | 6,940
Production overhead - - - T 33,000
Outputs (Units) 1,840 1,740 1,580
Normal loss in process 10 5 10
of input (%)
Scrap value per unit T2 %5 210 |
EKS-H
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The production overhead is absorbed as a percentage of direct wages.

There was no opening and closing stock.

Prepare the following accounts :

@) Process-I

(i) Process-II

(iii) Process-HI

(iv) Abnormal Loss

(v) Abnormal Gain

Marks

(®) A firm is willing to purchase a new machine and is having two -s

options. Information related to the options are as follows :

Cost of Machine

Expected Life

Salvage value of Machine

Option-I

? 30,00,000

5 years

¥ 5,00,000

Expected Earning (After tax) ¥ 7,75,000

Option-II

' ¥35,00,000

6 years
2 5,00,000
¥ 8,25,000

The firm charges depreciation on the machine as per straight line

method. The cost of capital is 14%.

The present value of T 1 @ 14% is as under : -

© The Institute of Chartered Accountants of India

Year 1 2 £ 4 5 6
P/V factor | 0.877 | 0.769 | 0.675 | 0.592 | 0.519 | 0.455
EKS-H P.T.O.



(a)

(6)
EKS-H Marks
You are required to evaluate both the options on the basis of :
(i) Discounted pay back period.
(ii) Net present value

(iii) Profitability index

M/s XYZ Traders is a distributor of an electronic calculator. A 8
periodic inventory of electronic calculator on hand is taken when

books are closed at the end of each quarter. The following summary of
information is available for the quarter ended on 30™ September, 2019 :

Sales 7 1,46,20,000
Opening Stock 25000 calculator @ T 200 per calculator
Administrative Expenses T 3,75,000

Purchases (including freight
inward) :

- July 1,2019 50000 calculator @ ¥ 191 per calculator
~ September 30,2019 25000 calculator @ ¥ 210 per calculator
Clostng stock— September 30,2019 32000 calculator

You are required to compute the following by WAM (Weighted
Average Method), FIFO method and LIFO method.

(i) Value of Inventory on 30 September, 2019.

(ii) Profit or loss for the quarter ended 30™ September, 2019.

EKS-H
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(b) XYZ Ltd. is making a turnover of ¥ 70 lakhs out of which 60% is

(a)

made on credit. The company allows credit for 30 days. The company
is considering proposals to liberalize the credit policy. Information

regarding options available are as under :

Proposal-A | Proposal-B

Credit period 45 days 60 days

Anticipated credit sales | ¥ 65 lakh ¥ 80 lakh

The product yield an average contribution of 20% on sales. Fixed costs
are T 6 lakh per annum. The company expects a pre-tax return of 18%
on capital employed. At present company makes a provisén for bad
debts @ 0.5% which is expected to go up to 1% for Proposal-A and to
2% for Proposal-B. Assume 360 days in a year.

Evaluate the proposals and give your recommendations.

ABC Construction Limited commenced a contract on 1% April, 2018.
The contract price was T 40,68,750. It was decided to estimate the total
profit and to take to the credit of cosﬁng P/L accounts that proportion
of estimated profit on cash basis, which work completed bear to the

total contract.

Marks
8
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Actual expenditure of the contract for the year ending 31-3-2019 and
estimated expenditure for the year 2019-20 (upto completion of
contract) are given below :
2018-2019 2019-2020
Actual (?) Estimated ()
Material issued to site 6,84,000 12,21,000
Labour Charges : Paid 4,57,500 6,04,500
Outstanding at the end 34,500 52,500
Machinery Purchased | 3,37,500 -
Expenses : Paid 1,50,000 2,62,500
Prepaid at the end 33,750 -+
* | Machine returned to stores (Original Cost) 1,12,500 2,235,000
(31* March, 19) | (31* Dec., 19)
Material at Site 45,000 1,12,500
Worlé in progress certified 19,12,500 Full
WIP Uncertified 60,000 -
Cash Received 15,00,000 Full

The Depreciation on machinery is charged @ 25% on Written down
Value (WDV). It is estimated that contract will be completed on 31-

12-2019.
You are required fo :

(i) Prepare Contract Account for the year 2018-19.

(ii) Estimate the Profit on the contract for the year 2018-19 on

product which has to be credited to costing Profit and Loss

Account,

EKS-H
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(b) M/s X Limited has furnished the following information relating to the 8
financial year ended 31% March, 2019 :
‘ Particulars )
Net Profit 2,50,000
Dividend 1,00,000
Provision for income tax 80,000
Income tax paid during the year 65,000
| Loss.on sale of Plant & Machinery - 1,000
Book value of plant & machinery (sold) 4,500
Depreciation debited to profit & loss account 12,000
Purchases of furniture & fixtures 1,11,000
Investment in joint venture 40,000
Proceeds from issue of 12% debentures 20,000
Increase in working capital (Excluding cash and bank balance) 15,000
Closing cash and cash equivalent 50,000
Prepare the cash flow statement in accordance with AS-3 for the year
ended 31 March, 2019.
(a) Explain the meaning of ‘Waste’ and ‘Spoilage’ and glve the 454
accounting treatment of each one. =16
(b) State the objectives of Budgetary Control System.
(c) State various types of packing credit.
(d) Explain ‘Net Income (NI) Approach’ and ‘Net Operating Income
(NOI) Approach’ of capital structure.
EKS-H P.T.O.
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(a) A manufacturing firm produces a specific product and adopts standard

costing system. The product is produced within a single cost centre.

Following information related to the product are available from the

standard cost sheet of the product :
Unit Cost ()
Direct material 5 kg @ ¥ 15 per kg 75.00
Direct wages 4 hours @ T 20 per hour 80.00

During the month of October 2019, the firm purchased 3,50,000 kg of
material at the rate of T 14 per kg. Production records for the month
exhibits the following actual results :

Material used 3,20,000 kg
Direct wages — 2,20,000 hou_rs T 46,20,000

The production schedule requires completion of 60,000 units in a
month, However, the firm produced 62,000 units in the month of

October, 2019. There are no opening and closing work-in-progress.
You are required to :

(i) Calculate material cost, price and usage variance.

(i) Calculate labour cost, Rate and efficiency variance and

(iii) Calculate the amount of bonus, as an incentive scheme is in
operation in the company whereby employees are paid a bonus of

50% of direct labour hour saved at standard direct labour hour rate.
!

EKS-H
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() Following information have been provided by ABC Private Limited: g
Q)
Sales = 80,00,000
Variable Cost 46,00,000
Fixed Costs | 6,50,000

11% Botrowed Capital ~ 50,00,000

Equity Capital 45,00,000

Retained earnings 15,00,000
Required :

(i) What is the firm’s Return on Investment (ROI) ?
(ii) Does it have favourable financial leverage ?

(iii) If the firm beldngs to an industry whose asset turnover is 3, does

it have a high or low asset leverége ?
(iv)’ If the sales drop to ¥ 60,00,000, what will the new EBIT be ?

(v) At what level of sales, will the EBT of the firm be equal to zero ?

7. Answer any four of the following : 4x4
(@) Explain the adv'gntageé of Integrated accounting system. =
(® () Explain limitations of cost accouriting.
(ii) Explaﬁi ';Flexible Budget’,
EKS-H P.T.O.
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(c) Explain: "

(i) Compounding and discounting

(ii) Perpetuity

(iii) Inflation

(iv) Compound Interest
(d) Describe the principles which guide the selection of marketable

securities.

(e) Describe operating/working capital cycle.

EKS-H
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(Hindi Version)

i ) S o e e 8, e e e SR A G2
o et R ey e g R, AR e s 4, A uk Rl A
FeRT 1 T T B |
wed w1 A R |
98 Tl i & el vl vl & s AR |

F fewfrt (Working Notes) ST & WO €1 =T |

v
1. frafafea % s @i =20
(a) Freteria R ded xyz fifties & wafta
F AN 2 56,78,000
- g Hm= 2 48,18,450
e | (ST #) 6500 3TN
T -freas faea 3500 FETEAN
ST o i @
G) ™
(i) T HE HIAR
(iti) -fore 5 @ %)
(v) T ET
EKS-H P.T.O.
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(b) mc%ﬁh,wmﬁmgmmﬁmwmww

- |wmmﬁﬁ?ﬁﬁamﬁwmmﬁaﬁm%
o segs
R T e R 2 12,18,49,320 o1 3R A W SR 25%
o | e om-f % g o g % e e w2 5,75 T
i -3 & HR R g0 T W PR 6 20 8 % R
T A 125000 HTT-IeTeH 02 Wt Rew | ST YW 4w et
¥, ﬁﬁgﬁmﬁﬁ%m%waﬁsmowm&
e 309% w2 srgenes & |
ﬁumaﬁﬁamm%wmw@%wﬁﬁnﬁﬁamﬁ
B TFHFAE ' |

weff v - ¥5,36,300
T AR - T2,78,400
wf¥aror s ~  T4,25,000

SRR IR N Avem e - 77,18,800

& AT B8 o6 o1 et 3 wRomere g W sae 9w
N e T AT N F o, H g e o o o &
SR T TG S O e e e | |

EKS-H
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© Beffe g wsendudtat:

HTe] AT 1.5:1

Ty ST s (Rifea W <t AT S 8

st ~ 740,00,000

i gt ‘ 2285000

HHaA N IS 20%

TR T A i SIS :

@) TR WA % e, 98 T g sifem i, TRiS

TEfA ) SIS T 40,000 AT 2 |

i) S st w1 ea, I8 WA g R S aﬁﬁﬁ&@maﬁ
TR 2: 1 H IEAHE |

(d) ABC Private Ltd. T 9 1 % w0 Tt 2 30 @ % sfafea
fir B T FO B TS ¥ | S % o R o S S H

¢ 16 rE & St fafveie & 3twa < forg suerea € |

e 3 g Frerfeias o 3uery FAT M E -

(1) =n-wwa g 1:2

) ufa 3w IsE 710

(3) 3 B T TAR [ T 50

@ | | 30%

() W™ WAE AT HT 50%

(6) i 3 e g 10%

(7) O ANE —
T 6 @ 12% ()
2 6@ A AF 15% (T GH)

EKS-H P.T.O.
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@) I8 A T B wen wdum wo-wwa R 9y a1 @ A
TogH ¢, Al fore e 0% 3 w9 fratha i |

(ii) mﬁﬁﬁmﬁmmmaﬁﬁﬁﬁaﬂml

(iif) SFTRE 31T = s i a1 Pt i |
(iv) R fore 1t I ot TRt v s Bt oR iR |

PQR feifies wh faelh ‘srewr @ aflif #0 g semz & w
W(nge)ﬁw%mzﬁ@ﬁ%wmﬁmﬂaﬁ
% 7o A7 wfransit & Ton 2 1w av, 2019 % Hafa g

fream €

farao SRl | sfrnn | sBenm | geam
%= Fraft ¥ 12,000 - - T 12,000
(2,000 FTS)
abRar § v wewwr | €17,000 | 219,000 | 211,000 | 747,000
F=l qrft
T Hogt V8000 | T12,000 | T24,000 | 44,000
T = 2400 | T1860 | T2680 | T6,940
I TR ~ - - ¥ 33,000
IS GFEAh 1,840 1,740 1,580
wFn #, TR w| 10% 5% 10%
qAg &
AL (Scrap) To| T2 | & 210
wfer gt
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TeaTee SR e Wit ¥ SR T Sy R e § | R

ws aiftm Wi T 2 |
ot @ AR Hfe

() -1 @mat
(i) SFRT-II @
(iii) STsFIT-II0 G

(iv) AU &7 Gl

(v) STEM Y @ran

(17)
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Marks

% G T R F SO R st s T A R Rl g
fyepedt A waifra guaTd freraa € -
. fwwl e
i < T £30,00,000 ¥ 35,00,000
FrgAfa shad 599 6o
A T AN e %5,00000 ¥ 5,00,000
T 3 (FATT) 27,5000 825,000
e WA T e YT 2R 3 SR T g v w @ |
AN 14% R |
14% H R 1 1 T4 g Freaa B
i 1 2 3 4 5 6
S g T | 0.877 | 0.769 | 0.675 | 0592 | 0.519 | 0455
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3T AT Rt 3 e 1 ardan B TR W A
() FET I S
(i) 6 T
(iti) TERERaT s

(@) %Wd XYZ 358 W faga I (Calculator) Y R & | w2
fommdh % o § v g o B o & férIa TRk (Calculator) %
Tfed <t wrafes e B I # 130 Riem, 2019 B wEE B
a1l fomdt < fore gt ot wrw foriaa Suere &

CED) T 1,46,20,000
RIS TEfera 25000 GO, T 200 T HTURE i T W
TS =g % 3,75,000
A (ARE W wfEif
FRATY) -
— 1 eI, 2019 50000 FTORR, T 191 e FT0Teh Y 2T 9
- 30 fommaw, 2019 25000 T, T 210 Nfa ST Y =
W

JAfer Teferm — 30 R, 2019 32000 Frore

I fpfriea &t o, wfa sfam fafr, ‘wwd s e s
(FIFO) faftr & “ame # s vt st (LIFO) Riftr % s, e
i

G) 30 fmmER, 019 PR T

G) 30 RamR, 2019 F wHTE 21 Tl ford 3 @ v =R

EKS-H
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® Xz fafie € 70 @ =1 fasma w o @ R 609 faska 3am W

(a)

foran S & | e 30 R Y wrE W FR ? | FE o '
Hift Y Ierga F 3 Frg st TR R @ R | ST e
% gy & g Aera # -

TE—-‘A |-
g afy 45T 60 feR
gt 3uw fea s | T80T

Sdum o Ieg F gRT I T 20% EH I fean e R | v
AR 2 6 TG TS & 1w oh AW W 18% R @ @
T Tl R |

g H, werE s W % fT 0.5% H T Y TEuE w R,
T3 % RIT E 1% 7% aon TaE—% % g 20 T A A
gyraT & | s # 360 o A |

ST % et shifTe qet Tt g i |

Aacm%lﬁ%é%@%mlaﬂa, 2018 T T e | @

31 ¢ 40,68.750 %1 o1 | Ig Pt v R R T A AR

R WM 3 IHS SR T IFAE 9 H 98 A, A T
QR o R I, NI R FEFFASH AR |
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31-3-2019 i T B I3 o F 3% & e =g st ad 201920
¥ gt =4 (3% % ol 21 7) Prerea & -
2018-2019 2019-2020
I @) | I )
Hreer 3 fog amft frfg 6,84,000 12,21,000
o9 : 3 4,57,500 6,04,500.
I F 3= § ated 34,500 52,500
Aefit 61 ' 3,37,500 =
0 P 1,50,000 2,62,500
T & ofa & yiee 33,750 L

Ay e $ 9w (e era) | 1,12,500 2,25,000
(3191, 2019) | (31 Remw, 2019)

a?rdwamaﬁm 45,000 1,12,500
1o T — JHTfore 19,12,500 aof
1] T4 — STSHTIT 60,000 C
Iwemf 15,00,000 o

Wi R IafeRad o7 (WDV) W 25% # o & 3| w9 R
T R | 3% % 31 feww, 2019 3 ol 1Y <) G & | |
Ffdre -

@ a¥2018- 19 % T 31 Wrar 4 i |

(i) Sfewa 2maR = 3 2018-19 % fre 3% W @™ =™ aagqnsﬁlﬁm{
ST =T T e ¥ s R S #

EKS-H
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v ¥ x fafies 7 31 w, 2019 B TETE BN A 9¥ @ WERE 8
Poreferfa g g 1 @ -
R ®
g o™ 2,50,000
AT 1,00,000
TR 3 fore wav= 80,000
¥ % A ATH 1 PAH 65,000
T ve wehe & fam mEi 1,000
i weh o bR T (fifR) 4,500
= i Ea o 2fee feman e B1@ 12,000
weite wd fraeed 1 %Y 1,11,000
Hew I | FRw 40,000
12% 019 % 37| @ W A 20,000
e T 3 gy Qe T IH IHIBER) 15,000
3ifm g TE AHS T 50,000

31 77, 2019 1 G B AT T % R AS-3 F FTET THS TE
foreror dam i |

(a) ‘& (Waste)’ T TUTRET (Spoilage) 1 SR TR A IS F 4x4
G TR T &A1 | =16

(b) e Frm oreh ¥ SFEt 1 Fewrd HIRE |

() e wfee & faft= yemi w1 Seera HIRT |

@) Ih H=T ¥ GE W AW (Net Income Approach)’ TN R r-
RETE 311 ST (Net Operating Income Approach)’ i GHETET |
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(a) T i seen w fafire sar @ Pain st @ 9on e @

ﬁ&aﬁmm%lm,wwm%a%m,amﬁaﬁm
S g J

IeAE o AHH AT T3 & Ieie & Feifera iy geend sweres § -

T AT
)
g w5 kg @ T 15 Wi . 75
TeqE Ul 4 Toe@ T 20 Wi woe 80

HTE TR, 2019 % NE e A 7 14 7 Fret Y @ W 3,50,000
WWWWM|m%maﬁiﬁwﬁnamﬁmwm
v s .

Il g 3,20,000 feit

T 49— 2,20,000 T X 46,20,000

SR FIYH! TH WIE ° 60,000 THTEE hY T et & | @y,
TR X ST, 2019 AT F 62,000 FHTHT B Iaqea R | Wi
TS 37 # a8 )

TG T A Y e R

(i) Afi AP, qed TE 3T fererer 3 o |

(ii) #9 EFTE, TS HIEar = i A |

(iii) I H TH SN o 9 W R R g el @ w=

Y Y 49 AUt HT HHH TAH H9 HUT & F IR W 50%
S fen s & | A o B R R

EKS-H
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. EKS-H Marks
() ABC WTE¥e ffids % g Prerferfan gemnd soema SR TR E 8
®

fersra 80,00,000
mm 46,00,000
w7 AT 6,50,000
119 0 §oft 50,00,000
wHa goft 45,00,000
g o 15,00,000

anfea

@) e ‘R w yem (RO F R 2

iy = frda s SEEA R 7

(i) Tt e v @ e & wefa R gty s 3, @ w0
ween 3= 71 P geafe R @t 2 2

(iv) uﬁﬁmtﬁo,oo,ooowmé’rm%,ﬁmamrwﬁmj

(v) Torsea 3 e W T He 1 EBT Y % SRR Em 7

7. FreataRes 8 & fRad wm s s T : :::2
(a) TEhIGa e YUICh 3 T i FHATET |
(b) () TTE SrEiERA ot HsT B e |
(ii) ‘Ehasﬁamfaﬁmsrml
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(c) HHHTRY :
(i) =HIFEAT (Compounding) Ts HeNt (Discounting)
(ii) SITYErT
(iif) HST TER

(d) 3 Regre, s forourrefier sfegfert 3% s=m ) fréfa v &, % 9l
- i |
(e) e /wriEie Yot =e w1 avi i |
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